Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5104]-101

M.A. (Part I) (First Semester) EXAMINATION, 2017
ECONOMICS
EC-101 : Micro Economic Analysis—I
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]
(1) What are the basic economic problems faced by an
economy ? Does price mechanism help in solving these

problem ? Discuss.
(2) What are the properties of indifference curve ? Explain

consumer equilibrium with the help of indifference curve.

2. Answer any one of the following questions in 500 words : [20]

(1) State the assumptions of the Revealed Preference Theory of

Demand. Explain how the demand curve is derived from these
assumptions.

P.T.O.



(2)

(1)

(2)

3)

(4)

(1)
(2)
(3)
(4)
(5)
(6)
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What is price elasticity of demand ? Explain the various
methods to measure the price elasticity of demand with

suitable examples.

Answer the following questions in 250 words each (any two) : [20]

State and explain Law of Variable Proportions. Discuss its short-
comings.

What is Internal Economies ? Explain in detail the internal
economies and diseconomies.

Derive long-run average cost curve from short-run average
cost curves. Why is the long-run average cost curve ‘U’
shaped ?

Define Iso-quants. What are the properties of Iso-quants ?

Write short notes in 100 words each (any four) : [20]

Measurement of Consumer Surplus

Merits of Deductive methods

Difference between Static and Dynamic economics
Law of demand

Armstrong’s marginal preference theory of demand

Fixed and wvariable cost.
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(W& wUIw)
q@ : dE A TeRUT TUT : 80
M :— (i) ¥ WA Fiefau AeRaE 3.
(i) SRS sih qu U i
(iii) SW THHI 9 HAYS IAEEI.
(jv) SAEIH dd Gk AR hIQ.
(v) TewiEEd @ ISt geTORE weE.

1. e HIUAE Tk Y=l 500 IE[ W foa@l [20]

(1) SAIHTEA HIVA JAYd A(F G A€ a1l AFd 7 1 JRAHr=T
qigauer g fend IS0 Hed Bd Rl 2 =@l .

(2) GHI T AT RO ? U ST Ared SuHieE g9

W R

2, TEidUsl HUAE! Tk TAEN 500 ¥RM WA [20]
(1) HFTi=n Yhe-udd fagaEt TRId 9. A1 Edeed el a9
IR A d T HA
(2) HEiET fohua Tafashal US| ®E 2 AFTOE fRAd ddfEehdl AT
fafay Tsdt 9ra SERUTEE TR H

3, Woild geEl el 250 vedid S for@l (hividgl @) e [20]
(1) ‘" yHumen fEm’ e & = SiEEr 9=t
(2) @A dudl WUS hE 2 Idid o9dl 9 did Gfak T H

[5104]-101 3 P.T.O.



(8) 3TCURIAT TEH WAl Thiaed Qrehleld @ dgh hiel. Gredheid
TG @d g% U SRl ol ST9dl ?

(4) GU-SUGEA THTEl AR W GUIT ashrel dfyTsed Hivr 2

4, e fow foa@ y@HT 100 TRE (HICET WR) [20]
(1) YRR HarsTieeRrs |1
(2) A wsdE U
3) fordifra o wdfifrer srelsmerdia weh
(4) wmier M
(5) eHwim=n wrien fama wodt fagia
6) fer 3 wgaa @«

[56104]-101 4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5104]-102

M.A. (Part I) (First Semester) EXAMINATION, 2017
ECONOMICS
EC-102 : Public Finance

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

Answer any one of the following questions in 500 words : [20]

(1) Discuss the role of Government in organised society and Mixed
economy.
(2)  Critically examine “Bowen and Lindhat’s model” of benefit

approach to taxation.

Answer any one of the following questions in 500 words : [20]

(1)  Critically examine the theories of Tax shifting.

(2) Explain fully Wiseman-Peacock Hypothesis of the growth of

public expenditure.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]

(1)
(2)
3)
(4)

Distinguish between Private Goods and Public Goods.
Explain the “Wagners” Law of Public expenditure.
Explain the types and measurement of Taxable capacity.

Distinguish between Impact of Tax and Incidence of Tax.

4, Write short notes on (any four) : [20]

(1)
(2)
3)
(4)
(5)
(6)

Fiscal functions of Government

Equity Principle of Taxation

Pure theory of Public expenditure
Types of Incidence

Burden of Public debt

Methods of Repayment of Public debt.

(WS ®AIad)

qB : WA qE TRt TUT : 80
I — (i) WS WA gree

(ii) 3SSehels 3 qul U SFifadn.
(iii) JW UHI 9 HAYS SEE.
(jv) USHEE T TUSH UYAUAh] TRE.

1. Weiads! HIUAE Tk Yol W 500 ¥ead fo@l : [20]

(1)
(2)

[5104]-102

goadta a9 iy sidegesddial e yfashded ==l WL

ha (a

doF 9 fdera A= ey gRIGIU YiaAHN Seas TRET H.

2



2, TClicish! HIVART Teh YIS W 500 Ve ol [20]

(1) FEeHHA= f9gae dercdes iRem &

o 2

(2) s 9 fUsled I=n AEwHe ©E geren TEd deddl \fawr

e T

3, @l geEl SW el 250 vseid fo@l (hividEl @) [20]

(1) @it o 9 9eEsqe g% add e TR H.

(2) HESHe TEET 9 IE1 f9gid e &

(8) TR UEdd YHR o HISHNUIGA TR H.

(4) HTEE d HYR I Fleh W H

4, gregd fear fagr (v 9wR) [20]
(1) THRE TSR &

(2) HIUYIE GHAT o

(3) wES® TErEl IS S

(4) HERA THR

(5) HESe el {R

(6) HESeh HS GdBer=A Ygdl.

[5104]-102 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5104]-103

M.A. (Part I) (First Semester) EXAMINATION, 2017
ECONOMICS
EC-103 : Agricultural Economics
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) What is Green Revolution ? Explain the nature and recent
developments in Green Revolution.

(2) Explain the causes and remedies of low agricultural

productivity.

2. Answer any one of the following questions in 500 words : [20]
(1) Compare the prices of agricultural goods and industrial goods
in India.

(2) Explain the role of Co-operative Banks in Agricultural credit.

3. Answer the following questions in 250 words each (any two) : [20]
(1) State the recent trends in the agricultural management.
(2) Evaluate the progress of Indian Agriculture during the period
of Five Year Plans.
(3) Explain the sources of irrigation in India.

(4) Describe the problems of Agricultural Marketing in India.
P.T.O.



4, Write short notes on (any four) : [20]
(1) Challenges before Agricultural Sector
(2) Non-agricultural Rural Credit Institutions
(3)  Self-help Group
(4) Place of Agriculture in Maharashtra
(6) Agriculture Price Policy
(6) Problems of Agricultural Management.

(W& ®UIM)
q@ : dN A THUT TUT : 80
ol :— () |8 WA Hefau seRds o).
(i) IEhel® ofw Yol U SFIfaam.
(fii) IW AR 9 HeYT SFHE.
(jv) USHEE Tes TUSH UYAUAR] TRE.

1. Eclidusl HIOAR Te JeAEl W 500 ¥EM fow [20]
(1) TRawd =oN & ? SRawdd @EY oA sifdiehe  HIamd
RO T
(2) U= IURHAT HHT STHUIET HRU MU IR TR A

2, TEicusl HUEE! T JAE SW 500 V=M fow [20]

(1) YRAE Siade a sienfies wra aren femde=n g &

(2) A QeI FERN SRl qfHeE TR F

3. @elld el W YA 250 Ve foel (FvheEl g@F) e [20]

(1) Il AN Afdhe HlAd Jait  HET.
[5104]-103 2




(2) UTEINe AT FH@MA HRAE UAdA WE JoIHad .

N

(8) YR Sefd=drd ARl TS H.

~

(4) VRO A fasl gae=n gue fave .

4. dieRE fow fae (HoE = mw) [20]
(1) Il SAYSA 3R
(2) fomrt o gaeeen
(3) TORHEEEAA T
(4) TERIKA IdI&sTd T
(5) Sam fREd RO

haNEEAY

(6) [AIIEIIATAT THHT.

[5104]-103 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5104]-104

M.A. (Part I) (First Semester) EXAMINATION, 2017

Time

ECONOMICS
(EC-104 : Indian Economic Policy)
(2008 PATTERN)

: Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.
(iizt) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1)

(2)

Give a brief account of national income trends in India, and
comment on inequality in distribution of national income.
Evaluate the performance of public sector in India.
Explain the causes behind privatisation of public sector
undertakings.

2. Answer any one of the following questions in 500 words : [20]

(1)

(2)

Describe education and health policy of the government of India.
What are the major problems of education in India ?
Compare the growth and pattern of industrialisation of
pre-reform period and post-reform period in India.

3. Answer any two of the following questions in 250 words : [20]

(1)

(2)

Explain employment generation programmes of government of
Maharashtra.

Explain in brief recent transport policy of government of India
and its impact on development of transport.

P.T.O.



(3) Explain in brief the rationale of economic reforms in India.

(4) Explain the causes and effects of rural-urban migration in

India.
4, Write short notes on (any four) : [20]
(1) Economic development and demographic features.
(2) Reality of globalisation of Indian economy.
(3) Problems of Indian capital market.
(4) Economic reforms and labour market in India.
(6) Nature of liberalisation in India.
(6) Emnergy policy of Govt. of India.
(TSt ®UTAR)
q% : dF A THUT TUT : 80

ol :— (i) WA YT STERId AR

1.

(ii) SVEhE® 3k qu O ERifodrd.
(fii) IW 9R] 9 HLYZ SHE.
(jv) USHEE! T TUSH UYAUAh] TEEl.

Tl IR Teh Y9N 500 &M W foer . [20]
(1) HRAd T I Joaiial diged  sTeren =1 3o Ui
A=Al faoH fausHeR. v .

(2) YRAMIA WESH S HMEAE JoIHdd HI. deEsieh S
JheUI=Al  @ISTll hI0M=l ROl s .

TIelldl hIUaEl Teh Ueam=l 500 Iead Sw fa@r [20]

(1) ¥Rd WaR= e § AR R v &, YRada freome
U@ GHE U ?

(2) YRAWIA GURUMYE T GURORR  hia@enia S fowmm

q oATpdl dHT ATl B

[6104]-104 2



3. Geid UeaEl Yoe! 250 Ve W fow (FUaRl @F) [20]
(1) WeN™e Rl IR fHid #ried W< &
(2) 9Nd R Iciicheld dEgeh URU OIS Tse Sk T A=
e faemedla gRomE |
(3) YRAWA oTfdeh FUROT digd TR .
(4) YRAdE UTHO-TRd TERomE ROl 9 qRuM ' &6

4. gieRE U el (RIUEE 9R) [20]
(1) onffe fowmm anfor ceged=n afyme
(2) YRAE FIHTEI=T  SNTATeheh Lo SR
(3) 9URAE Wiedd SR THE
(4) YRAdia ST guwom ST o™ 9N
(5) HRAMIE IJRIAOME T
(6) YRArE s RO

[5104]-104 3



Total

No. of Questions—A4] [Total No. of Printed Pages—3

Seat
No.

[5104]-106

Time :

N.B.

M.A. (Part I) (First Semester) EXAMINATION, 2017
ECONOMICS
EC-106 : Cooperation—Theory and Practice
(2008 PATTERN)
Three Hours Maximum Marks : 80
:— (1) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

Answer any one of the following questions in 500 words : [20]
(i) Explain in detail importance and benefits of cooperation with
special reference to Indian Agricluture.

(ii) Define cooperation. What are the characteristics of cooperation ?

Answer any one of the following questions in 500 words : [20]

(i) Discuss the progress and problems of Urban Cooperative
Banks.

(i) What are the various objectives and problems of cooperative

training in India ?

P.T.O.



3. Answer any two of the following questions in 250 words each : [20]
(i) Explain the features of Co-operative Society’s Act, 1904.
(i) What are the objectives and problems of cooperative audit
system in India ?
(iit) Take a brief review of cooperative movement in Japan.

(iv) Explain the principles of cooperation.

4, Write short notes on (any four) : [20]
(i)  Functions of NABARD
(ii) International Cooperative alliance
(iit) Regional Rural Banks
(iv) Primary Agriculture Credit Society
(v) Pattern of cooperative supervision in India

(vi) Weaknesses of cooperative movement in India.

(W& T UIM)
% : dF A THUT T : 80
g — () €Wd WA el
(i) SoEhEle Ik qu o i
(iii)) JW TUHI 9 HEHS IHEE(.
(jv) USHHE T TUSH UYUARl TaEl.

1.  Weiicus! HIVER TRl Y9 500 V&M S faal [20]

(() YRAE It GSuid "k Hed o oY W &
(ii) Tehr=l e fagl Heshnel dfysel wivdl sTed ?
[5104]-106 2




[5104]-106

2. Wcitclieh! HIVER! TRl Y= 500 Iea St fasl [20]
(i) I TEHRN dHRME WA F GESEl 9= Hd.
(ji) YA TghR gigteum=n Sfese 9 THE R ARd 2

3. Weicus! RV M YEEEl SW Yost 250 Ve[ fowr [20]
(i) HEHR T FHER 1904< Rl TR
(i) YRAIA HEhN el YReur= 3fEsnl o wHEn hived sed ?
(i) SUFHHE UEHR ddedl diedd  3TeEl A
(jv) TEHNE qT@ TR &

4, dieHE du fa@ (FUEE 9n) [20]
() e wE
(i) STAWSE UehR T
(iii) Yazfieh UTHIOT Sfemt
(jv) WIHE TP Taued
(v) YRAMA TEHR T TEREE THR
(vi) YRANA HEHR  Fesdedidiad 2T



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5104]-107

M.A. (Part I) (First Semester) EXAMINATION, 2017
ECONOMICS
EC-107 : Mathematical Economics
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

(v) Use of non-programmable calculator is allowed.

1. Answer the following questions (any one) : [20]
(i) Let

Verify that :

(@) AT = 2AT

® (A + BT = AT 4+ BT
¢) (A - BT = AT _ BT
d) (AB)T = BTAT,

P.T.O.



(i) A firm has the following total cost (TC) and demand

functions :
TC = %Q3 ~- 7Q% + 111Q + 50
Q = 100 - P.

(@) Write out the total revenue (TR) function ‘R’ in
terms of Q.

(b) Formulate the total profit function (profit = n) in terms
of Q.

(¢) Find the profit maximising level of output Q.

(d) What is the maximum profit ?

2. Answer the following questions (any one) : [20]
(i) Given the following model :
Y = C + [ + Gy
C=a+bY -T
T = d + «Y).
Given :
(@ >0, 0 <b <1
d>00<t<1
T = taxes
t = income tax rate.
(a¢) How many endogenous variable are there ?
(b) Find equilibrium level of Y, T and C.
[5104]-107 2



(ii) In a basic Keynesian macro economic model it is assumed that

Y =C + 1 where I = 820 and C = 60 + 0.8Y, then answer

the following :

(@)
b)
(c)

What is the marginal propensity to consume ?
What is the equilibrium level of Y ?

What is the value of the multiplier ?

(d) What increase in I is required to increase Y to 5000 ?
(e) If this increase takes place, will savings (Y — C) still
equal to I.
3. Answer the following questions (any two) : [20]
(i) When will average variable cost be at its minimum value for
the total cost function ?
TC = 40 + 82 — 6¢2 + 0.2¢5.
(iz) Find g—i and g—z when :
(@ y =6 + 3x + 16z + 4x2 + 222
®) y = 14x32?
¢) y =9 + 4xz - 3x—223.
(iiz) Solve the matrix algebra by putting them in appropriate matrix
format :
5¢ + 4y + 9z = 95
2¢c + y + 4z = 32
2x + by + 4z = 61.
[5104]-107 3 P.T.O.



(tv)

(@)

(i1)

(ii1)

(tv)

(v)

(vi)

[6104]-107

A firm faces the non-linear demand schedule P = (650 — 0.25q)1'5.

What output should it sell to maximise total revenue ?

Answer the following questions (any four) : [20]

Given the demand function Q = 200 — 4P. Derive the inverse
demand function.
Solve :

600 = 3x + 0.5y

52 = 1.5y — 0.2x.

Evaluate the following determinent :

2 5 9
4 8 3
1 7 4]

Find the total variable cost function corresponding to the following
marginal cost function :

MC = 185 — 24q + 1.2¢2
If Rs. 4,000 is invested at 5% compound rate of interest for
3 years, what will be final sum be ?
A firm’s total costs are given by the expression :

0.2ga + 0.05¢b + 0.1gc

where ¢ is output and a, b and ¢ are the per unit costs
(in Rs.) of the three different inputs used. Evaluate these costs

if ¢ = 1000, a = 0.6, b6 = 1.3 and ¢ = 2.1.

4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5104]-108

M.A. (Part I) (First Semester) EXAMINATION, 2017
ECONOMICS
EC-108 : Demography
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) Explain the meaning, nature, scope and importance of
Demography.

(i) Critically examine recent demographic trends in India.

2. Answer any one of the following questions in 500 words : [20]

(i) Explain the demographic transition theory with reference to

India.

(ii) State the concept of quality of population and explain the factors

influencing it.

3. Answer any two of the following questions in 250 words each : [20]
(i) What is women empowerment ? Explain its importance and

discuss factors hindering women empowerment.

P.T.O.



(ii) Explain the interdependence of various components of
population.
(ii1) Explain the optimum theory of population.

(iv) Write a detailed note on education policy in India.

4, Write short notes on (any four) : [20]
(i) Pattern of sex structure and LDCS.
(i) Human Development Index
(iti) Crude birth rate and crude death rate
(iv) Need for gender equality
(v) Concept of population explosion and India
(vi) Malthusian concept of positive and preventive checks of

population.

(TS TUTaR)
q@ : AN A TeRUT TUT : 80
el :— () |d WA Gefau sTEvds R
(i) 3Selehel® & qO U SFifodm.
(iii)) JW TUHI 9 HEYS IHEE(.
(jv) TRYUEE e TUST YvAulAh TRTE.

1. Geiiads! HIAR TRl I S| 500 &M@ fomar [20]

() ARIERTEE 7Y, WEY, A<t d Hewd HOER TR &

a n

(i) YA AhaEdd Afahes HAdd Jaxiid hlcdsh U0 .

[5104]-108 2



2, Welicis! HIVER! TR Y= 500 Iea[ W fagl . [20]

() URareAl Hewld dieded 9wH fagiae s o

(i) ‘hEEdE qUEd’ g Gheddl 9 fd=AeR UWE CRUR s TR

.

3, TCicisl AR &M JeAEl SW YEE 250 e[ ol [20]
(i) Tfea ToCHHO WU & ? HAfeal Fochone Hewd 9. Higel
YA 3TSUes T .
(ii) degEr= fafay wediiad WEREaY W .
(iii) hEeda wwa fga W
(jv) 9Raren Nafore  HdRoTeR gfowR 9 e

4, dgHEE du foer (SR |w) [20]
(i) SIcufasfgd <o 9 fam d@=
(i) wma fawm fdwns
(fi)) WA ST 9 YA IR
(jv) fam FHd=T  STETIHdl
(v) TRFE YERIE ST 9Rd

(vi) HCATAT HHNHE 0 gfaaurdes araed = Thed.

[5104]-108 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5104]-201

Time :

N.B.

M.A. (Part I) (Second Semester) EXAMINATION, 2017
ECONOMICS
(EC-201 : Micro Economic Analysis—II)
(2008 PATTERN)

Three Hours Maximum Marks : 80

:— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iit) Answer should be precise and to the point.

(iv) Draw diagrams wherever necessary.

Answer any one question in 500 words : [20]

(1) State the features of perfect competition. How is price and
output determined under perfect competition ?

(2) What is monopolistic competition ? Explain equilibrium of the

firm and group under monopolistic competition.

Answer any one question in 500 words : [20]
(1) State the marginal productivity theory of distribution and its
critically examine.

(2) Explain in detail Marris's managerial model of the firm.

Answer any two questions in 250 words each : [20]
(1) Explain the game theory of oligopoly.

(2) Explain the Schumpeter's theory of profit.

(3) Explain Baumol's model of sales revenue maximization.

(4) Explain the collective bargaining.
P.T.O.



4, Write short notes on (any four) : [20]
(1) Excess capacity
(2) Features of duopoly
(3) Types of price discrimination
(4) Conditions of Pareto optimality
(6)  Superiority of IS-LM model
(6) Curnot's model of oligopoly.

(TS ')
qB : WA qE THUT TOT : 80
I :— () wd TRA Hiedn
(ii) woEiHEE sih Yo U qeifEEm.
({ii) oTeTIH 9 Gk IhcAl Hlal.
((jv) SW THHI o HLYS STHEI.
(v) TRYEE T TUST YTAUlAH] TRIET.

1. Woiadsl SR TR Y= W 500 via ferer - [20]
(1) qof W= afre 9@, gof wéda fema onfor soaea ffveet @t
BId.

(2) THRCRIIH WYl TUS HE ? HRRRIGH WEdd e e eaf
g A= gHde TR .

2. WIicUsh! HIVAR Tkl I SR 500 veed fomr [20]
(1) fawsErEn "o saRsar fagia 9E @ fewras geam .
(2) WRTe IUHEE HIEAUHRE JiaAE  Gfasl T &

3. Widisl HIEE A JIEl W gdel 250 eI fowr e [20]

o~ N

(1) STeafashai¥ere ga/e faga T &

[6104]-201 2



(2) Y Tl faga wee @
(8) U fasl UTet HEGHIRLOT YidHHE WS .

(4) UMfed TR T A

4, dew@ dw faw (FUEE WR) e [20]
(1) sfafRed &
2) fgfasmafumrr=t aftre
(3) HHEAWRE YHR
4) WA W TRy
(5) IS-LM oM 953
(6) HAed IcUfashdllgehR  FiadH.

5104]-201 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5104]-202

M.A. (Part-I) (Second Semester) EXAMINATION, 2017

ECONOMICS

(EC-202 : Indian Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(zi) Figure to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(i) What is budget ? Explain the classification of budget in India.

(ii) Explain the public debt policy since 1991

2. Answer the following in 500 words (Any one) :

[20]

(i) Explain the transfer of resources from union to state.

(ii) Explain the causes of Indian fiscal imbalance.

3. Answer in 250 words each (any two) :
() Explain the types of deficits.
(zi) Explain the Indian fiscal policy.

(iii) Discuss the components of Union Budget.

(fv) Explain the reform of direct tax in India.

[20]

P.T.O.



4, Write short notes on any four in 100 words each : [20]
(i) Effects of Indian fiscal imbalance.
(ii) Principle of federal finance
(zit) Balanced Budget
(iv) Vertical and horizontal imbalance.
(v)  Deficit finance
(vi) Kinds of taxs
(S )
q@ : A ae TeRUT TUT : 80
oAl :— (i) Td WA Wefam oTeRds SR
(i) SoEhele T Ul U SFifod.
({ii) GEWHEl B SUST YRAUCART TRl

1. Ud@Us! AR T e SR fosr (500 I=@) [20]
() IR WIS HE ? URAMG  STdEeheurd  Siliehiul .

({i) 1991 UAA WESHh HIGRU TR FHA.

2. TOOUHR! HIUAE TRl U= S foel (500 IT=i[) [20]

(i) hehEd UM HOAM AUR HEAR FEIRU T H.
(i) YRdE TSRET STOHAOET R0 T .
3. WoGUh! HIUER M UTEl W fow (YRl 250 IsIid) ;o [20]
(i) T AT FHR T H
(i) YRAE TSRNE GO0 TS &

(Gii) e ASSIUShdie HShi=l == Hq.

(jv) YRAIS Y& HUdG GURUT T H.
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4. FUAR ARE ded@ fow fewm (yEHT 100 I=M@) [20]
(i) YRAE TSRS AT R
() EeE fomr qd
(iii) U SIeTSTI=H
(v) & o THEdE  Gdod
(v) e ST
(vi) HTA YHKR.

[5104]-202 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5104]-203

M.A. (Part-I) (Second Semester) EXAMINATION, 2017

ECONOMICS

(EC-203 : Indian Agricultural Problems and Policies)

Time :

(2008 PATTERN)

Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1)
(2)

Explain the effects of W.T.O. on Indian Agriculture.
State and explain the problems of Agricultural labour.

2. Answer any one of the following questions in 500 words : [20]

(1)

(2)

Explain in detail the impact of mechanization on Agricultural
labour.

Explain the present policy of ceiling on land holding.

3. Answer the following questions in 250 words each (any two) : [20]

(1)
(2)

3)
(4)

Explain the Agricultural problems in Maharashtra.

State the causes of low efficiency of Agricultural labour in
India.

Discuss on 'Agricultural subsidies'.

State the recent Import-Export policy of flowers and fruits.
P.T.O.



4, Write short notes on (any four ) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

q@ : A
I —

Unemployment problem

Agricultural problems in India

Problem of Agricultural exports

SEZ Policy

Efficiency of service sector in relation to Agriculture.
Central and state policy about Agriculture.

(WE ®UIR)

qa™ TepUuT TUT : 80
() ®Wa Wi diefa0 sfeETs oRd.
(i) SSdhele 3k YO U I

({ii) IW THHI 9 YT SHE(.
(jv) WA Wb TUSHT WYAUAR TEEI.

1. THoYh! FUERI TR I SR 500 Iee@ fomr [20]
(1) TFfae SAUR HoeTd 9RAE Idekie aRum ' &
(2) TAESIE GHET G 9 W H.

2. UPGUHR DHIUAR TRl TR IW 500 3@ fowr [20]
(1) AfARIHOT= JaESReRie J96 dfawl 52 .
(2) wHHTG SHH HRoTfgvEe gufiedidie gRo faee s

3. UTOlo TRAEN SW YS! 250 I=E fawl (FRUER gE) e [20]
(1) YR Idifaoas TR T H.
(2) YRAME VA STEUREHdEl HRU TR &
(3) ‘TdifawEe® AfeM’ AER ==l &
(4) o oMU Hefawed sifokele AE@-faild gRo 9.

[5104]-203
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4.

(1)
(2)
(3)
(4)
(5)
(6)

[5104]-203

qreeEd 2ar fogl (FveE \n)

-

SR TS

ARATIS  SIdiosesh  qHe
YidifasEes Al gRomet wwen
foRiw enefier & (SEZ) #Rw
BIGIESE G| B L A DR |
$% 9 T I VAfasIe R

[20]



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5104]-207

M.A. (Part I) (II Semester) EXAMINATION, 2017
ECONOMICS
(EC-207 : Statistical Techniques)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.
(iizt) Use of non-programmable calculator is allowed.

(iv) Symbols have their usual meaning.

1. Answer any one of the following questions : [20]
(1) Present the following data of the marks of 50 applicants who
were given certain test for purpose of selection to a post
by taking class intervals as 0-9, 10-19, etc. :

67 82 33 4 57 49 34 73 54 63

36 52 32 75 60 3 9 79 28 30

42 93 43 80 3 32 57 67 &8 64

63 11 3 28 10 23 8 41 60 32

72 53 92 88 62 55 60 33 40 57

Also plot the histogram and obtain the mode graphically.

P.T.O.



(2) Compute the correlation coefficient between sales and profit

of ten firms and interpret it :

Sales Profit
50 11
50 13
55 14
60 16
65 16
65 15
65 15
60 14
60 13
50 13

2. Answer any one of the following questions : [20]

(1) (a) Write a note on skewness.
(b) Obtain the arithmetic mean and median for the

following frequency distribution of overtime done by the

workers :

Overtime Hours No. of Workers
438 4
8—12 8
12—16 16
16—20 18
20—24 20
24—28 18

[5104]-207 2



(2)

(1)

(2)

3)

(4)
[5104]-207

(a) The joint probability function for the random variables X

and Y is given below :

X
v 0 1 2
0 1/9 1/9 1/9
1 1/9 1/18 1/9
2 1/6 1/6 1/18

(i) Obtain the marginal probability distributions of X
and Y.
(it) Are X and Y independent ? Justify.

(b) Write a note on components of time series.

Answer any two of the following questions : [20]

Explain the following with an illustration each.

(a) An event

(b) Sure event

(c) Mutually exclusive events

(d) Complement of an event.

Of 10 college girls in a class, 3 have knowledge of R-software.
If two of the girls are chosen at random, what is the probability
that :

(a) both have knowledge of R-software

(b) neither has knowledge of R-software

(c) at most one has knowledge of R-software.

Explain scatter diagram and correlation coefficient as methods
of studying correlation.

Explain sampling and non-sampling errors.

3 P.T.O.



(1)

(2)
3)
(4)

(5)
(6)

[5104]-207

Answer any four of the following questions : [20]

Define :
(a) Random variable
(b) Expectation of a discrete random variable
(¢) Continuous random variable
(d) Probability distribution of a discrete random variable
Explain different types of estimators.
Compare mean and mode as measures of central tendency.
A certain stimulus administered to each of the 12 patients
resulted in the following increase in blood pressure :

5 2,8, -1, 3, 0, -2, 1, 5, 0, 4, 6.
Can it be concluded that the stimulus will in general be
accompanied by an increase in blood pressure. Use 5% level
of significance.
Explain different types of index numbers.

Explain additive and multiplicative models of time series.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5104]-208

Time

N.B.

M.A. (Part I) (Second Semester) EXAMINATION, 2017
ECONOMICS
(EC-208 : Community Development and Planning)
(2008 PATTERN)

: Three Hours Maximum Marks : 80

:— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

Answer the following questions in 500 words (any one) : [20]
(1) Explain in detail the determinants of development.
(2) State and explain the interdependence of social development

and environment.

Answer the following questions in 500 words (any one) : [20]
(1) Explain in detail the India’s population policy.

(2) Explain the theory of uneven and combined development.

Answer the following questions in 250 words each (any two) : [20]
(1) Explain the Marxian theory of social development.

(2) State the International Population Policy.

(3)  Write in detail the cocnept of ‘Asset Vulnerability Framework’.
(4) Explain the foundation of social theory.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Social capital
(2) Basic human needs
(3) Fundamentals of social theory
(4) Guided development
(6) Planning and Aid

(6) Religious values and economic organization.

(TS ')
q8 : = qa™ TR TUT : 80
oAl :— (i) W UvH Hefon oEvds o
(i) SSElhel® 3k YO O Iife.
({ii) SW THH! 9 HLge FATE.
(jv) TRYUER T TUST YTAUlAHl TRIE.

1. TEiicaUsl HIUERI TRl T 500 I&[ Sw foel [20]
(1) foweme frule gfeew o= &
(2) gmifses famm 1 gaieRor Ir=adidl WEEddT 9 9 T
.

2. TICiiciis! HIEE TRl I 500 ¥k S faer . [20]

(1) YA AR aSAasEs 90 o T 4.

) foaom snfor wwsia fowmmn faga o= &

3. WddUsh! HIVER S YAl gdet 500 IsSd I famr : [20]
(1) weE=r gmees faeEmEn faga T &4,

(2) STMRUSE AHTEA UR0 TR H.

[5104]-208 2



(3) HoHl FSAIdT dihe @ Hehoddl HiOw® W %L
(4) gt fagae smar favre &4

4, dieH@ dw Rl (RUEE 9R®) [20]
(1) wHfSes  gieda
(2) HAYd HHEE TS
(3) Gmifser fagEaEl gadd
(4) Trdfma fowm
(5) fToasm enfor #ea
(6) wifHe Heu ST offefe  wwe.

[5104]-208 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5104]-301

M.A. (Part II) (Third Semester) EXAMINATION, 2017
ECONOMICS
(EC-301 : Macro-Economic Analysis-I)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions (in 500 words) :[20]
(i) What is circular flow of income ? Explain the circular flow
of income in three and four sector economy.

(i) Critically examine Cambridge version of quantity theory of
money.

2. Answer any one of the following questions (in 500 words) :[20]

(i) Explain and evaluate the absolute income hypothesis and
permanent income hypothesis in consumption.

(ii) What is accelerator ? Explain fully how it affects investment.

3. Answer the following questions in 250 words each (any two) : [20]
(i) Explain the factors affecting consumption function.
(i1) Explain the working of Investment Multiplier.
(ii1) Explain the factors affecting marginal efficiency of capital.

(iv) State the determinants of High Powered money.

P.T.O.



Write short notes on (any four) : [20]
(i)  Social accounting

(i1) Relative income hypothesis

(iit) Types of budget deficits

(iv) Liquidity trap

(v) Money mutliplier.

(vi) LM -curve.

(WISt ®aia)

qB : WA qE THUT TOT : 80
IO i— () wE U Hren

1.

(ii) IERel® 3T Ul IO Rifadm.
({ii) JW THR! 9 HLHS L.

(jv) STETIHR dY Yoo kAl Q.
(v) WIHEES B FTAUGER el

WAl YAl 500 Vgid SR felel (IR Ueh) [20]
(1) ST ThIhR YO8 WIS & ? ST 9 9R 99 AdTawddid

Sl dshlh[T Ydlg TS hl.

[a o

(i) HHIS 9dd 9emH fag<ra dihicass gflequr .

Tl U9l 500 Ve SR forel (HIVAR k) [20]
(i) SUArTdlel FRUE 3= 9Reheudr s s I UReheu W
hET A HOIHUA 6.

(i) WA WUS ®wE 7 O TAFU@meR el URUM Hdl d HigER e
.
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3. Weld YA 250 ¥R SWfoml (FIORED g [20]
(1) SUHFT HoHeR UROMH HOR Heh TR H.
(Gi) U T wRUSd TR H.
(iii) wedar=Al HH FEGHIGR IRUM FOMR Teh W FH.
(jv) 3I=a vk Tome fuRe e = &

4. ded@ dw fagr (Fog |\mw) e [20]

(1) TS o SiE

(1) WHE IO TEaw

(iii) SIRSYARMIA Jerd ThR

(jv) TEd= H Y
(v) T U
(vi) UATH. .

[5104]-301 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5104]-302

M.A. (Part-II) (Third Semester) EXAMINATION, 2017
ECONOMICS
(EC-302 : Economics of Growth)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer any one of the following questions in 500 words : [20]

(1) Define Economic Growth. Explain the economic and non-economic
factors of economic growth.

(2) Critically examine the growth model of Prof. R.M. Solow.

2. Answer any one of the following questions in 500 words : [20]

(1) Critically explain the Joseph Schumpeter's theory of economic
development.

(2) Explain Prof. J.E. Meade's model of economic growth with

diagrammatic presentation.

3. Answer the following questions in 250 words each (any two) : [20]
(1) Explain embodied and disembodied technological progress.
(2) Explain Adam Smith's Naturalism.
(3) Explain Joan Robinson's concept of Golden Age.

(4) Explain developmental and intellectual capital.

P.T.O.



4, Write short notes in 100 words each (any four) : [20]
(1) Difference between economic growth and economic development
(2)  Human Development Index
(3) Mode of Production
(4) Ramsay's Rule of Golden Accumulation
(5) Learning by doing

(6) Money in economic growth.

(TS ')
qB : WA qE THUT TOT : 80
g :— () Wd YA gredn
(1) IS sk qoi o it
(iii) STEvdIsh d9 Yook 3ThHcAl Il
(iv) TEHES Yoo TUST YYAUCAHRT UETE.

1. Tl HIUCE Tk 9=l 3w 500 IS fosr [20]
(1) T Jgi=it = AW oAfded JGeR URUMM HIOA oAfdw o
foR onfdes Sedh TR H.
(2) W RTA. el I=n g Ffaam fewmras altemr &

2. Weiiad SIUERI Teh J9= S 500 =i fomr [20]
(1) SiE% et offde fommafauaes fagiae fohras Tasdeo .
(2) W W3 HE T oftw goen YfdumEE SAhdiEE TSIl

.

3. Wi YvEl S YRl 250 VS fawr (vl @e) e [20]
(1) oifiyd o foR offiyd difes W T .
(2) ofew Tig=n e s &4

[5104]-302 2



3)
(4)

(1)
(2)
3)
(4)
5)
(6)

[5104]-302

S Uferas A=t ‘gao g’ Geheddl TR hL

foerrd o digieh 9ieaal W .

el 391 98t 100 IS st (SIvael =)

sfefer 9@t a afde fo@ adia &
ma fasra fadene

SARANT 9gd

sgverg e

Y JEid HE-TAM.

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5104]-303

M.A. (Part II) (Third Semester) EXAMINATION, 2017
ECONOMICS
EC-303 (A) : Research Methodology
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) Explain in detail various stages in research design.
(it) What is the importance of sampling in a research process ?

Elaborate various types of sampling.

2. Answer any one of the following questions in 500 words : [20]
(i) Explain the different methods of collection of primary data.

(ii) What is tabulation ? Why is tabulation considered essential

in a research study ? Explain the characteristics of a good

table.

3. Answer any two of the following questions in 250 words each : [20]
(i) Explain the difference between pure research and applied

research.

P.T.O.



(i1) Explain the characteristics of a good hypothesis.
(iti) Importance of Excel and SPSS in data processing.

(iv) Explain various measures of Central Tendency.

4, Write short notes on any four of the following in 100 words
each : [20]
(i) Exploratory and descriptive research
(ii) Size of sample
(iit) Importance of graphs
(iv) Limitations of social science research
(v) Measures of dispersion

(vi) Importance of PowerPoint presentation.

(RS wuTeR)
9% : W q™ THUT TOT : 80
O :— (i) Wd WA AAvIAE 3.
(ii) Sediwels ik gul U <Eifed.
(i) SW THA o YT @
(jv) TRYUER o TUST YvAulAh] TRTE.

1.  Weiicish! HIVER TRl Y™ 500 V&M S fael [20]
(i) HeEA yheRddia fafaw e diesa 9o
(i) wTenem yfwda 9ga fragi= mga wse &, 99T fAagt=n
fafay agdl fave =

[5104]-303 2




2, Welicis! HIVER! TR Y= 500 Iea[ W fagl . [20]
() wafae wfedd (I) Tehadrea fafgy dgdt T2 &4
(ii) difchiehto (Tabulation) TUS & ? GINYF AT dl{cToh ohLom=n

EYIhdl hl 3T 7 <Al dlfclehIh{om= Jf¥rsel T2 .

3, TCicisl AR &M JeAEl SW YEE 250 e[ ol [20]
(i) Vs HEEE 9 I SEIEdd Tleh T A
(i) =N TEAGEEl AR T H
(iii) Excel @ SPSS = dAYHEdA  Hedd.
(lv) S Yg= T T H

4, TIAAUh! HIVAE AR diedrd feu=l W Yt 100 V=< fasr : [20]
() favcvomeRs 9 oUHCHe  TINEA

(ii) THAT 3TN

(iii) SIS U
(Gv) ISR HRNEATT HAiel
(v) ToueA™E &R

(vi) TUfERUREE YHIEY TR

[5104]-303 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5104]-304

M.A. (Part II) (Third Semester) EXAMINATION, 2017
ECONOMICS
EC-303 (B) : Econometrics
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

(zv) Use of calculator is allowed.

1. Answer any one of the following questions : [20]

(i) The annual sales of a domestic food mixer of a company are

as follows :
Year Sale (in th.)
1 80
2 90
3 92
4 83
5 A
6 99
7 92

P.T.O.



(i1)

(2)

(i1)

[5104]-304

(a) Determine the best line of fit of the form Y = a + X
and forecast the demand for the 8th and 9th year.
(b) Test the significance of B at 5% level of significance,
given that t; (05 = 2.571
(c) Construct 95% confidence interval for §.
Check whether all the coefficients in the following demand
and supply model are identified :
q = ag + oqp; + ogy; + o (demand function)
q = By + Bip; + m; (supply function)
Where the disturbances o; and n; are uncorrelated, y; (consumer

income) is an exogenous variable.

Answer any one of the following questions : [20]

Fit a curve of the type Y = a.bX to the following data using

least square principle :

Year (X) Profit (Y)
(lac. Rs.)

0 32

1 47

2 65

3 92

4 132

What is heteroscedasticity ? Explain reasons of heteroscedasticity.

Also explain different methods of detection of heteroscedasticity.

2
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3. Answer any two of the following questions : [20]
(i)  What is Econometrics ? Explain the methodology of Econometric
Research.
(i1) Explain how interaction effect can be studied using dummy
variables.
(ii1) State and explain order and rank conditions of identifiability
of equations in simultaneous equations model.
(iv) State and explain features of Logit model.
4, Answer any four of the following questions : [20]
(i) State Gauss-Markov Theorem. Also state the relations of Best
Linear Unbiased Estimators (BLUE) of the constants in the
linear regression model.
(i1) State different models used in time series analysis.
(itz) State sources of autocorrelation. Also explain how parameters
of the model are estimated in presence of autocorrelation.
(iv) What is economic forecasting ? Discuss any two approaches
to economic forecasting.
(v) Explain different methods of detection of multicollinearity.
(vi) Explain how dummy variable can be used in piecewise linear

regression model.



Total

No. of Questions—A4] [Total No. of Printed Pages—3

Seat
No.

[5104]-305

Time

N.B.

M.A. (Part II) (Third Semester) EXAMINATION, 2017
ECONOMICS
Optional Paper
EC-304 : Banking and Financial Institutions
(2008 PATTERN)
: Three Hours Maximum Marks : 80
:— (1) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iizt) Answers should be precise and to the point.

Answer any one of the following questions in 500 words : [20]
(i) Explain in detail the functions of Reserve Bank of India.

(ii) Explain the nature and role of financial system in India.

Answer any one of the following questions in 500 words : [20]
(i) Explain the role and performance of Industrial Development

Bank of India.

(i1) Explain the objectives, functions and working of World Bank.

Answer any two of the following questions in 250 words each : [20]

(i) Explain the objectives of monetary policy.
P.T.O.



(i1) Explain the indicators of financial development.
(ii1) Explain the functions of Mutual Funds.

(iv) Explain the functions of International Monetary Fund.

4, Write short notes on (any four) : [20]
(i) Banking sector reforms after 1991
(i1) Structure of Cooperative Banks in India
(iiti) Non-Bank Financial Institutions
(iv) Foreign Exchange Market
(v)  Euro Dollar Market

(vi) Types of Mutual Funds.

(TS wUIaR)
q% : dF A TeRUT TUT : 80
Tl :— () |a WA Hiedn
(i) ISElhel® & YO U SFifodm.
({ii) W AR I YT IHE.
(iv) TEHHEE! H@ TUSH IAUAHT TRIE.

1.  Weiicus! HIVER TRl Y9 500 V&M S faal [20]

() 9rdE fEed de<t & gfaew fase =

(i) 9RdE fod gonferd T@Eq AT fHsh TS K.

[5104]-305 2



2, Wreliadsl HIVEE TRl I 500 =M SW fa@ [20]
(i) vRdE sienfe fowm do=n ftewr sufn wF@ART faee &

o RO

(i) INTfdeh =t 3fese, wE enfor wmiT wWs &

3, WAUehl SRl S YT S Yl 250 ISd foer [20]
(i) FoHgugs YURoT=l e W HA.

o N o

(i) foxia faemm fever fase .

(ii)) TR A= o T &AL
(jv) ST AR ®F T H.

4, gred ad fagl (SRl Jar) [20]

(i) 1991 AN FIANIA WRASA  SfchTaAfao s GERon

(i) YRANA FEhRT Sepiel Lo
(i) dhat faxia geen

(v) Wea fafma =W

(v) JU SR FER

(vi) WER A= &R

[5104]-305 3



Total

No. of Questions—A4] [Total No. of Printed Pages—3

Seat
No.

[5104]-306

Time

N.B.

M.A. (Part II) (Third Semester) EXAMINATION, 2017
ECONOMICS
EC-305 : Welfare Economics
(2008 PATTERN)
: Three Hours Maximum Marks : 80
:— (1) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

Answer any one of the following questions in 500 words : [20]
(i) Explain fully the Benthamite approach to aggregate welfare.

(ii) Explain the concept of contract curve.

Answer any one of the following questions in 500 words : [20]

(i) Explain the contributions made by Barone, Kaldor and Hicks
in Paretian Welfare Economics.

(it) Compare the infinite number of non-comparable optima and

unique social optimum.

Answer any two of the following questions in 250 words each : [20]

(i) What is Pareto optimality ?
P.T.O.



(ii) State with suitable examples Arrow’s possibility theorem.
(iit) Write the problems of non-market interdependence.

(iv) Explain Pigouvian Welfare Economics.

4, Write short notes on (any four) : [20]
(i) Welfare maximisation
(ii) Top level optima
(i) Optimum production
(iv) Income inequality
(v)  Uniform income

(vi) Second best optima.

(TS E®UIa)
q% : || A THUT TOT : 80
o :— (i) |& WA Hien
(i) ISElhele 3 YO IO qFifodm.
(i) SW THA o YT SEmE.

(jv) USHEE T TUSH UYAUAh] TRE.

1.  Weiicus! HIVER TRl Y9 500 V&M S faal [20]

(i) TURU HoAUNEEaEl o-FH AT NI HiaER W H.

(ii)) HIX dhET Gheqdl WSS .

[5104]-306 2



2, Welicisl HIVER! TRl Y= 500 ¥&aM W fa@l [20]
(() oH, hieeR 3T e I WEE hodlUehRl ST AneH

e .

(i) Ao SRaUddl ST GEl ST UekHd WiHifeieh  SSedddl AT
o .

3. Gk SV M 99T S ! 250 IS fosr [20]

() U IqHdl WRUS i 7

(i) =1 v g dERu W &
(iii) STITSIRIAT ORI sSxar= SS90 T &l
(jv) TFE FAVER SdE T A

4, gred ad fagl (SRl Jar) [20]

(1) HAUTE HEAHIHI

(i) TIHAE! STEUdo
(1i1) TSEAH IHI_A
(iv) ST faswar

(v) FHEHE 349

(vi) TSI T M.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

M.A. (Part II) (Third Semester) EXAMINATION, 2017
ECONOMICS
EC-306 : Economics of Finance
(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer any one of the following questions in 500 words :

No. [5104]-307

: 80

[20]

(i) What is efficient market hypothesis ? Explain the forms of

efficient market hypothesis.

(i1) Discuss in detail the functions of SEBI.
2. Answer any one of the following questions in 500 words :
(i) State and explain the mechanics and types of options.

(ii) Explain the characteristics and types of securities.

3. Answer any two of the following questions in 250 words each :

[20]

[20]

(i) Explain the term of net present value and its implications.

P.T.O.



(ii) Explain the various stock indices.
(ii1) Explain the fixed income securities

(iv) Explain the types of swaps.

4, Write short notes on (any four) : [20]
(i) Corporate securities
(ii) Types of cash flow
(iti) Problems of stock market
(iv) Arbitrage
(v)  Option market

(vi) Hedgers.

(W& T UIM)
q% : || A THUT TOT : 80
o — (i) §d WA gree
(i) SoEihEe sih qu U i
(fii) IW 9H] 9 HLYZ SHEM.

(jv) TG Hoo TUSHT YYAUlAHT URTE.

1. Telds! HIVAE TET I 500 IRW SW fa@r [20]
(i) HEYH IR Tfeak TS ®E 7 HEGH FGNR IedawE JER W
.

n

(i) Qd=A1 FEET gfawr == w9

[5104]-307 2



2, TClicish! HIVAR TRl T 500 ¥E[ W fa@r : [20]
(z) fashed INIRIIA T30 9 YR TR &

(i) wfayd=n aftre sfr yeR fave &

3. Weicus! HIUEE GF YEAEl S Yost 250 Ve[ fowr [20]
(i) T adaAge Gdcdd TR Hed faar oY T &
(i) fafag seR fdome == =+
(i) Teer 3= gidydl feawe .

(jv) STEAIEd™ YhR TR H.

4, diedd AU fa@ (FEE |w) [20]
(i) &Y Ay
(i) TE YdRME Y&

(iii) TR IEREA 994

(fv) HAIH
(v) fopw 9N
(vi) ETEH.

[5104]-307 3



Total

No. of Questions—A4] [Total No. of Printed Pages—3

Seat
No.

[5104]-308

Time :

N.B.

M.A. (Part II) (Third Semester) EXAMINATION, 2017
ECONOMICS
EC-307 : Economics of Environment
(2008 PATTERN)

Three Hours Maximum Marks : 80
:— (1) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw a neat diagram wherever necessary.

Answer any one of the following questions in 500 words : [20]
(i) Explain the trade off between economic development and
environment.

(z1) Discuss in detail the effects of environment on human lives.

Answer any one of the following questions in 500 words : [20]

(i) Elaborate the nature and implementation of environmental laws
in India.

(i1) Write in detail the need and status of environmental education

in India.

Answer any two of the following questions in 250 words each : [20]

(i) Discuss the global environmental externalities.

P.T.O.



(i1) Explain the contingent valuation method.
(iti) Discuss the role of environmental institutions in protecting
environment.

(iv) Explain the different types of environment.

4, Write short notes on (any four) : [20]
(i) Environmental Externalities
(ii) Physical capital and human capital
(iit) New model of pollution control
(iv) Causes of air pollution
(v)  Social forestry

(vi) Climate change and global environment.

(WS TUia)
q% : dF A TeRUT TUT : 80
AT — (i) ¥ WA gredn
(i) IoEIRE® Fh qUl U gEifed.
(i) SW THA o YT G

(iv) SAEIE dY Gk AhcAl HIQ.

(v) USHMEE Too TUST ULAULAhT TRE.

1.  Eeiidus! HIVER Tl Y= 500 I&&M S fasl [20]
(i) onfdfe T ol THERUIM 9 T &
(i) TAEROTE HEE Sadedd gRomdrE "o == &
[5104]-308 2




2, Wreliadsl HIVEE TRl I 500 &M SW fa@ [20]
(i) YRAdA TEeRe IS S ey ST sSHeasavt  fave
.
(i) vAeRe fagumeEl WS snfn gw AfowR |

3. Wciicde] HIVERI M UREEl SW YS! 250 V[ foRl [20]
(i) s TEERT dEdl e =@
(i) oThfeH® TR UGdeR ==l h.
(iii) TSROl WM TATeRO HEOr=A fteRel ==l W
(jv) IR fafay yeR fove &

4, gregd fear fagr (v 9wR) [20]
(1) TIERor Sedd

(i) OEIEU HESad oAU AFEl Wiedd

(iii) g TrE=ome dfem gfaae
(iv) BAT YSEAMN 6RO

(v) IS af e

(vi) TIAHMEMGA o ST SIfdeh  TFTeu.

[5104]-308 3



Total No. of Questions—4] [Total No. of Printed Pages—3
Seat
No. [5104]-401

Time
N.B.

M.A. (Part II) (Fourth Semester) EXAMINATION, 2017
ECONOMICS
EC-401 : Macro Economic Analysis—II
(2008 PATTERN)
: Three Hours Maximum Marks : 80
:— (1) Attempt All questions.
(i1) Figures to the right indicate full marks.

(iizt) Draw neat diagrams wherever necessary.

Answer any one of the following questions (in 500 words) :[20]
(1) Discuss in detail Keynesian and post-Keynesian approach to
Macro Economics.

(2) Explain Tobin’s approach to Demand for Money.

Answer any one of the following questions (in 500 words) :[20]
(1) Explain the ISLM model with labour market and flexible
prices.

(2) Explain the monetary and fiscal policies to control inflation.

Answer the following (in 250 words each) (any two) : [20]
(1) Critically examine Keynesian theory of interest.

(2) Explain Friedman’s theory of demand for money.

(3) Explain the short-run and long-run Philip’s curve.

(4) Explain Goodwin’s model of trade cycle.

P.T.O.



4, Write short notes on (any four) : [20]
(1) Neo-Classical Approach to Macro Economics
(2) ISLM model with government sector
(3) Monetarism
(4) Classical theory of inflation
(6) Baumol’s approach to demand for money

(6) Hick’s theory of business cycles.

(TS ')
q@ : AN A THUT TOT : 80
I — (i) Wd WA Grefau AeRas SR,
(i) 3SVEtREle d qui o gifaan.
(iii) oMEvash A TSROl gawk AFdl H@l

1.  Welicus! HIVER TRl Y3ae 500 & Sw fael [20]
(1) T AMEATAT FSHIA h-HaRl d Hd TaCAl GICehlumel JarHe
EEIC T

(2) <fem =en Uemen Anmeh = gfewmr T wa.

2, TElidde! HIER Tel WBAM 500 Vi SwfeRr [20]
(1) oW 9k 9 fhuad Yledaeiad=n Feyld ISLM Yfaas T &

(2) Tdde I OeHfauae STl TSHRIE R0 T H.

3. Weldus! SR S YTt Yde! 250 Vsgid Sw fael [20]
(1) ARt Hafyd sg=a fagiae ddras T &4
(2) wiead=n Uvmen Anvien faga s @
(3) SITUSH o <reehleid fRfas % T .

(4) TEfoa UR =% YiddaH W A

[56104]-401 2




4, e few foer (HIUEE |w) [20]
(1) 99U AT GeHld  FordAaTare] g
(2) TEHE &eEedid ISLM  HfaHH
(3) TR
(4) <oEEE gAaaRt g
(5) S g YR HTofEn gftesni

6) fer=n =R <Swr=n fag@.

[5104]-401 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5104]-402

M.A. (Part-II) (Fourth Semester) EXAMINATION, 2017

Time :

ECONOMICS
(EC-402 : Economics of Development)
(2008 PATTERN)

Three Hours Maximum Marks : 80

N.B. :(— (i) Attempt All questions.

(zi) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer the following questions in 500 words (any one) : [20]

(1)

(2)

Explain the factors affecting on the efficiency of large scale
production.

Explain the Big-Push theory for Balanced growth.

2. Answer the following questions is 500 words. (any one) : [20]

(1)
(2)

Explain the static and dynamic gains from international trade.

Explain in detail the theory of demographic transition.

3. Answer the following questions in 250 words each (any two) : [20]

(1)

(2)
(3)

(4)

Explain the effects of poverty on Human Resource Develop-
ment.

Explain the importance of fiscal policy in developing countries.
Explain the importance of new technology for sustainable
agriculture.

Explain the Singer and Prebish theories of international trade.

P.T.O.



4, Write short notes on 100 words each (any four) : [20]
(1) International trade as engine of development.
(2) Population as limits to growth as ultimate source.
(3) Role of MNC's in developing countries.
(4) Importance of Foreign Direct Investment.
(5) Vicious circle of poverty.

(6) Role of agriculture in economic development.

(W& T UIR)
9% : o A TRUT TOT : 80
ol :— (i) §d WA Hiean
(ii) 3SVEiwel® % YU IO SFifer.
(iii) SW THb! 9 HELHT (.

1. woe YeEl W 500 [ fos (FodE TeR) [20]
(1) T = SAEA SEHdeR IRoM R e oI &l
(2) Udfed IS Sl weRr g e #

2. W@ TEE SW 500 =M fow (FUART WH) [20]
(1) W AR Herm @fde 9 fafie @9 o9 &

(2) JREEd TRUUET fOga W &

3. Wl YAE S YaE! 250 Iia foel (HURE IF) [20]
(1) <ieemn AFar SaeA fas@er o gRoms s .
(2) forawie <IME TEREE IR0 He@ W< &
(3) e vREd foemmEE 9dH TOEHE e R &
(4) for 3 a9 A1 AU FANRYEHE faga TR #.

[5104]-402 2



4. YIS 100 ITE@ dred few fowr (FomE =ww) [20]
(1) oo AR ¥ Ts fowmma oM
(2) TR 96 JSdio HAG F TEE

(3) fohromiie v =gusd ®u==l

(4) TE 92 TqAUkE AW

(5) TG goe=sh

(6) orfeer foehramd =l yfHent.

[5104]-402 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5104]-403

M.A. (Part II) (Fourth Semester) EXAMINATION, 2017

Time

ECONOMICS
(EC-403 : International Economics)
(2008 PATTERN)

: Three Hours Maximum Marks : 80

N.B. :(— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer the following questions in 500 words (any one) :  [20]

(2)

(i1)

Critically examine the structure of trade predictions of
Heckscher—Ohlin theorem with particular references to the
Leontief paradox and factors intensity reversals.

Critically examine the purchasing power parity theory of rate

of exchange.

2. Answer the following questions in 500 words (any one) : [20]

(2)

(i1)

What is the difference between a nominal tariff and an effective
tariff ? What is usefullness of the concept of effective
protection ? How is the rate of 'effective protection' is
measured ?

A flexible exchange rate system will insulate the economy from

international disturbance and therefore eliminate the need for

international policy co-ordination. Explain.

P.T.O.



3. Answer the following questions in detail with 250 words each (any
two) : [20]
(1) Explain the Kravis theory of International Trade.
(z1) Describe merits and demerits of Gross Barter Terms of trade.
(zit) Explain the harmful effects of foreign investment in Indian
economy.

(fv) Comment on India's export promotion policy since 1991.

4, Write short notes on (any four) : [20]
(i) Intra-Industry trade in India.
(t1) Direct methods of exchange control.
(iii) Devaluation and Disequilibrium in B.O.P.
(tv) Functions of World Bank.
(v)  Economic effects of tariff.

(vi) Role of MNCs in Indian economy.

(E waiaR)
q@ : dE A THUT TUT : 80
ol :— (i) wd WA Hiefn oewds R
(i) 3ERela 3k qU U Sifan.
(iii) SW THhl o9 HeHS M.
(jv) STETIER AU Holoh kAl Q.
(v) ST Tz TUSH WIAYAHT TREN.

1. TOd JEAE 500 I S fadl (AR UeR) [20]
() foa<te=r foave 9 ¥ TEFd=N Heyld gFR Sigciy Siqamr

~ n

Gi) Tafma <= =Sl vl 9uHar fagiae e gl .

[6104]-403 2



2. Wod yeAEt 500 IR SW ol (RIUER ) [20]
(i) AR SR 9 RUMHRRE Sehld | AHEN R Tl 3R, ' IRUMHGRE

T A Gehoddl STl hE 3TE 7 T GRUTHRRE ST
e adr ?

(i) <afass fafma S erer AdeRds AT YRy &0 Hid
ST WA ARURE  GRUHL A GaESE= T/l &' e
.

3. WO YAl WSl 250 ITSid GO SRl (FveE M) ¢ [20]
(1) hfosrEn AAWEE ANRET fag e F.
(i) T@ FUR I TOREE GUE H
(i) YR TdATEAA WhT T[aaUehid TROMH TS .
(fv) 1889 UHT=AT WRaredl fHafd Wicaigd ERUMER 9 .
4, derE fewr fag (@ =w) [20]
(1) ARAEA  STaR-SEM AR
(i) fofma frEomen yeae e
({ii) SAIHCHT AV HFIGR Al SFTEAAA
(jv) <ifdes o=t wHE
(v) T 3w Ry
(vi) YRAE AdFTEdA TGUA  HIAT fHE

[5104]-403 3



	5104-101
	5104-102
	5104-103
	5104-104
	5104-106
	5104-107
	5104-108
	5104-201
	5104-202
	5104-203
	5104-207
	5104-208
	5104-301
	5104-302
	5104-303
	5104-304
	5104-305
	5104-306
	5104-307
	5104-308
	5104-401
	5104-402
	5104-403

